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Cuadro 7 (continuación 6)/Table 7 (continued 6)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.011 0.010  100 000  1 047  99 017 0.988 b 7 632 919 76.3
1 4 0.001 0.002  98 953   232  395 214 0.998 c 7 533 902 76.1
5 5 0.000 0.001  98 722   109  493 335 0.999 7 138 687 72.3

10 5 0.000 0.002  98 613   158  492 667 0.997 6 645 352 67.4
15 5 0.001 0.004  98 454   378  491 328 0.995 6 152 685 62.5
20 5 0.001 0.006  98 077   608  488 863 0.993 5 661 357 57.7
25 5 0.001 0.007  97 468   710  485 567 0.992 5 172 493 53.1
30 5 0.002 0.008  96 758   798  481 796 0.991 4 686 926 48.4
35 5 0.002 0.010  95 960   937  477 458 0.989 4 205 130 43.8
40 5 0.003 0.013  95 023  1 204  472 105 0.985 3 727 672 39.2
45 5 0.004 0.018  93 819  1 645  464 982 0.979 3 255 566 34.7
50 5 0.005 0.025  92 174  2 330  455 046 0.969 2 790 584 30.3
55 5 0.008 0.037  89 844  3 361  440 820 0.953 2 335 538 26.0
60 5 0.012 0.057  86 484  4 926  420 104 0.928 1 894 718 21.9
65 5 0.018 0.088  81 558  7 205  389 776 0.889 1 474 614 18.1
70 5 0.029 0.135  74 353  10 067  346 595 0.831 1 084 839 14.6
75 5 0.046 0.208  64 285  13 388  287 958 0.748  738 244 11.5
80 5 0.073 0.308  50 898  15 667  215 322 0.639  450 286 8.8
85 5 0.113 0.439  35 231  15 457  137 512 0.503  234 964 6.7
90 5 0.177 0.601  19 774  11 880  69 170 0.351  97 452 4.9
95 5 0.279 0.771  7 894  6 084  24 262 0.142 d  28 281 3.6

100 ω 0.450 1.000  1 810  1 810  4 019  4 019 2.2
Mujeres/Females

0 1 0.009 0.009  100 000   877  99 191 0.990 b 8 114 186 81.1
1 4 0.000 0.002  99 123   192  396 009 0.998 c 8 014 995 80.9
5 5 0.000 0.001  98 931   103  494 400 0.999 7 618 986 77.0

10 5 0.000 0.001  98 828   115  493 855 0.999 7 124 587 72.1
15 5 0.000 0.002  98 714   165  493 156 0.998 6 630 732 67.2
20 5 0.000 0.002  98 549   196  492 255 0.998 6 137 576 62.3
25 5 0.000 0.002  98 353   226  491 201 0.997 5 645 320 57.4
30 5 0.001 0.003  98 127   306  489 872 0.996 5 154 119 52.5
35 5 0.001 0.004  97 821   419  488 060 0.995 4 664 247 47.7
40 5 0.001 0.006  97 403   604  485 503 0.992 4 176 188 42.9
45 5 0.002 0.009  96 799   909  481 722 0.988 3 690 685 38.1
50 5 0.003 0.014  95 890  1 388  475 980 0.981 3 208 963 33.5
55 5 0.005 0.023  94 502  2 195  467 023 0.970 2 732 982 28.9
60 5 0.008 0.037  92 307  3 409  453 014 0.952 2 265 960 24.5
65 5 0.012 0.059  88 898  5 265  431 330 0.924 1 812 946 20.4
70 5 0.020 0.094  83 634  7 882  398 463 0.878 1 381 616 16.5
75 5 0.033 0.153  75 752  11 604  349 750 0.803  983 153 13.0
80 5 0.057 0.249  64 148  15 985  280 779 0.693  633 403 9.9
85 5 0.095 0.384  48 164  18 504  194 558 0.552  352 624 7.3
90 5 0.156 0.552  29 660  16 378  107 352 0.392  158 066 5.3
95 5 0.252 0.734  13 281  9 751  42 029 0.171 d  50 714 3.8

100 ω 0.407 1.000  3 530  3 530  8 684  8 684 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


